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1) One must keep promise. For More FPSC Past Papers
(a) His (b) One’s ~ Please Visit www.csstimes.pk
(c) The (d) A
2) It is no use everything
(a) of finding fault with (b) to find fault with
(c) finding fault with (d) having found fault with
3) My views are different
(a) From you (b) Than you
(c) From yours (d) Then yours.
4) You have played
(a) Instead of work. (b) Than work.
(c) But not work. (d) Instead of working
5) Thy necessity is
(a) Greater than mine. (b) Greater from mine.
(c) Greater than that of mine. (d) Greater to mine.
6) May | now ?
(a) Take your leave (b) Take leave of you
(c) Take leave from you (d) Take your leave from you
7) He dented
(a) Hot to be a thief. (b) Of being a thief.
(c) That he was a thief. (d) If he was a thief.
8) No sooner had the meeting ended the crowd dispersed.
(a) When (b) Just then
(c) Than (d) Immediately
9) 9 | shall never allow such a letter to be sent my signature.
(a) With (b) By
(c) Under (d) Below
10) 10 He resigned

(a) To fail
(c) Himself to failure
Tick the correct meanings

(b) Himself to fail.
(d) None of these

For More FPSC Past Papers

11) We had not envisaged this turn of events: o i
(a) Imagined (b) Doubted Please Visit m.cssnme‘s.pk
(c) Considered (d) Suspected

12) The decision taken by the Managing Committee is irrevocable.

For More FPSC Past Papers Please Visit www.csstimes.pk



(a) Praise-worthy (b) Rash and unwise

(c) Final and unchangeable (d) In accordance with the rules
13) There are quite a few intractable children in the class.
(a) Brilliant (b) With eccentric habits
(c) Hard to manage (d) Hard working
14) He faced all his misfortunes with equanimity.
(a) Courage (b) Fearlessness
(c) Confidence (d) Calmness of mind
15) Some people are fond of leading a sequestered life
(a) Luxurious (b) Secluded
(c) Frugal (d) full of self-denial
16) Everybody applauded his performance spontaneously.
(a) Loudly (b) Naturally For More FPSC Past Papers
(c) Excitedly (d) Openly Please Visit www.csstimes.pk
17) The knowledge of nuclear power might lead to annihilation
(a) total destruction (b) immortality
(c) tremendous progress (d) full healthfulness
18) Everybody present wondered at his audacity.
(a) presence of mind (b) impudence
(c) wit (d) confidence
19) Thereisa great disparity in all these statements
(a) Similarity (b) Weight
(c) Truth (d) Difference
20)  Successful leaders are usually men of great eloquence,
(a) cleverness (b) fluent speaking
(c) sharpness of intellect (d) imagination

General Knowledge
21) When Pakistan got observer status in Shanghai Cooperation Organization?

(a) 1999 (b) 2002
(c) 2005 (d) 2006
22) When Treaty of lzmir was signed?
(a) 1975 (b) 1976
(c) 1977 (d) 1978
23)  When Iran was jolted by its epochal Islamic Revolution?
(a) 1979 (b) 1980
(c) 1981 (d) 1982
24) 24 When Pakistan became the member of World Trade Organization
(a) 1stJanuary 1995 (b) 6th March. 1995
(c) 7th April 2001 (d) 9th July 2002
25)  25. When the original members of R.CD met in the Islamabad.
(a) 1989 (b) 1990 For More FPSC Past Papers
(c} 1991 (d) 1992 Please Visit www.csstimes.pk
26) 26 Which treaty after amendment became the charter of ECO?
(a) lzmir Treaty (b) Three Nations Treaty
(c) The Development Treaty (d) The New Treaty

27)  27. Organizational Structure of ECO consists of:
(a) Council of Ministers, council of deputies (b) Technical committees.
(c) Eco Secretariat and specialized agencies (d) All of above
28)  In which year, Soviet Union fell apart and many of its republics emerged as independent states in
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the world?

29)

30)

31)

32)

33)

34)

35)

36)

37)

38)

39)

40)

41)

42)

43)

(a) 1989 (b) 1990

(c) 1991 (d) 1992

When in order to expand the ECO, an extra ordinary two- day session of council of foreign ministers
of the original ECO states was held on?

(a) November 26-27,1992 (b) November 27-28, 1992

(c) November 28-29,1992 (d) November 29-30, 1992

With the addition of the new members the membership jumped to nine with a population of
(a) 100 million people (b) 200 million people

(c) 300 million people (d) 400 million people

Who was appointed as Usher for Hijrat-e- Madinah?

(a) Hazrat Saad bin Ubada (R.A) (b) Hazrat Utab bin Usaid (R.A)

(c) Hazrat Abdullah bin Arigat (R.A)
Who was a historian jurist, philosopher as well as a politician?

(a) Shams uddin Ibni Khalkan (b) Abdur Rehman Ibni Khaldun

(c) Abu Bakar Muhammad Ibni Yahya For More FPSC Past Papers
When law of inheritence was revealed? Please Visit www.csstimes.pk
(a) Three Hijre (b) Four Hijree

(c) Five Hijree (d) Four Hijree

Who was the last Commander in Chief for Ghazwa-e-Mautah?

(a) Hazrat Khalid bin Waleed (R.A.) (b) Abdur Rehman bin Auf (R.A)

(c) Abdullah bin Rawaha (R.A)

Imam Oar ul Hijrat is the title of:

(a) Imam Ahmad bin Hunbal (b) Imam Malik

(c) Imam Shafee

The word Muhammad (SAW) as a name has been mentioned in

(a) Two times (b) Four times

(c) Six times (d) Seven times

(e) None

Khateeb -ul-Anbia as a title of:

(a) Hazrat Idress (AS) (b) Hazrat Ibrahim (AS)

(c) Hazrat Yaqoob (AS) (d) Hazrat Shoaib (AS)

Hazrat Umer (RA) appointed as custodian of Bait-ul-Mat:

(a) Abdullah bn Irgum (RA) (b) Abdullah bin Umar(RA)

(c) Abdullah bin Abbas (RA) (d) Abdullah bin Masud (RA)
The effective Zakat System can ensure the elimination of:

(a) Poverty (b) Interest

(c) Class Distinction (d) Ignorance

A Verse of the Holy Quran indicates the name of:

(a) Hazrat Muaaz (RA) (b) Hazrat Bilal (RA)

(c) Hazrat Saad (RA) (d) Hazrat Zaid (RA)

California’ is known as 'Silicon Valley' because of:

(a) Hollywood film industry (b) Computer software industry
(c) Science beauty and resorts (d) Mineral resources
‘Chennai’ is the new name of the Indian city:

(a) Madras (b) Patna

(c) Agra (d) Lucknow For More FPSC Past Papers
Tenge' is the currency of: Please Visit www.csstimes.pk
(a) Kenya (b) Kyrgyztan
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44)

45)

46)

47)

48)

49)

50)

51)

52)

53)

54)

55)

56)

57)

(c) Cuba (d) Kazakhstan
World Bank President is:

(a) Robert Zoellick (b) Strauss-Kahn

(c) Shakour Shaalan (d) None of these

"BIN" is the intelligence agency of: For More FPSC Past Papers
(a) Iraq (b) IndonesiaPlease Visit www.csstimes.pk
(c) Afghanistan (d) Bangladesh

Science of human races is called:

(a) Demography (b) Chorography

(c) Anthropology (d) Bangladesh

"Seattle" is the seaport of:

(a) Germany (b) Canada

(c) China (d) USA

'Klaus Schwab' is the founder of:

(a) Red Cross (b) Scout Movement

(c) World Economic Forum (d) Cable News Network

Why 'Black Sea" is so called?

(a) Trie dense fog that prevails there in water (b) A large number of black rocks in the water
(c) The water of sea is black (d) None

The price of 10 chairs is equal to that of 4 tables. The price of 15 chairs and 2 tables together is
Rs.4000. The total p

(a) Rs.3000 (b) Rs.3200
(c) Rs.3900 (d) Rs.5000
Mathematics

The salaries of A and B together amount to Rs 2000. A spends 95% of his salary and B, 85% of his. If
now, their savings are the same, what is As salary?

(a) Rs. 850 (b) Rs. 1350

(c) Rs. 1500 (d) Rs. 1800

(e) Rs. 1560

Five-eighth of three Tterith of four-ninth of a number is 45. What is the number?
(a) 470 (b) 550

(c) 560 (d) 540

(e) None of these
Which of the following numbers should be added to 11158 to make it exactly divisible by 77?
(a) 9 (b) 8

(c) 6 (d) 5

7

(a) 100 +502 =7 (b) 200

(c) 300 (d) 150 For More FPSC Past Papers
(e) 100 Please Visit www.csstimes.pk
5004/139 -6

(a) 25 (b) 27

(c) 29 (d) 30

How many pieces of 0.85 meteres can be cut from a rod 42.5 meteres long?

(a) 30 (b) 40

(c) 50 (d) 60

A batsman has a certain average of runs for 16 innings. In the 17th innings, he makes a score of 85

runs, thereby increasing his average by 3. What is the average after the 17th innings?
(a) 60 (b) 37

For More FPSC Past Papers Please Visit www.csstimes.pk



58)

59)

60)

61)

62)

63)

64)

65)

66)

67)

68)

69)

(c) 38 (cy 27

68

(a) In Ajmal's opinion his weight is greater than 65 kg but less than 72 kg. His brother does not
agree with Ajmal and he thinks that Ajmal's weight is greater than 60 kg but less than 70 kg. His
mother's view is that his weight cannot be greater than 68 kg. If all of them are correct in their
estimation, what is the average of different probable weights of Arun? (b) 71 kg

(c) 67 kg (d) 73 kg

(e) 58 kg

52 kg

(a) in a group of ducks and buffaloes, the total number of legs are 24 more than twice the number
of heads. Find the total number of buffaloes?

(b) 8 For More FPSC Past Papers
:f:)} 10 (d) 12 Please Visit www.csstimes.pk
e) 14

7500 + (1250/50)

(a) 7500 (b) 7550

(c) 7525 (d) 8000

(3080+6160)/28

(a) 380 (b) 330

(c) 350 (d) 310

Simplify (31/10) (3/10) + (7/5)/20

(a) O (b) 1

(c) 10 (d) 100

What number comes next? 4,196,16,144, 36,100,64

(a) 36 (b) 100

(c) 80 (d) 64

Find the value of X X = (6/119) (63/8) (17/9

(a) 2/4 (6/ {ﬁ] }4 For More FPSC Past Pﬂperﬁ
(c) % (d) % Please Visit www.csstimes.pk

Along a yard 225 metres long, 26 trees are planted at equal distances, one tree being at each end of
the yard. What i3 the distance between two consecutive trees

(a) 7 (b) 9

(c) 6 (d) 8

The price of 2 sarees and 4 shirts is Rs. 1600. With the same money one can buy 1 saree and 6
shirts. If one wants to buy 12 shirts, how much shall he have to pay?

(a) Rs. 4800 (b) Rs. 1200

(c) Rs. 2400 (d) Cannot be determined

A man's investment doubles in every 5 years. If he invested Rs. 5,000 in each of the years 1960,
1965. 1970 and 1975, then what was the total amount received by him in 1980?

(a) Rs. 1,40,000 (b) Rs. 30,000

(c) Rs. 70,000 (d) Rs. 1,50,000

Water tax is increased by 20% but its consumption is decreased by 20%. Then, the increase or
decrease in the expenditure of the money is

(a) No change (b) 5% decrease

(c) 4% increase (d) 4% decrease

On increasing the price of TV. sets by 30%, their sale decreases by 20%. What is the effect on the
revenue receipts of the shop?

(a) 4% increase (b) 4% decrease

(c) 8% Increase (d) 8% decrease
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70)

71)

72)

73)

74)

75)

76)

77)

78)

79)

80)

81)

82)

83)

84)

Who was the inventor of the Thermos Flask?

(a) Oliver Lodge (b) James Dewar

(c) Eugen Goldstein Gallo (d) Denis Pepin.

Everday Science For More FPSC Past Papers
Who lnvented Logarithm? Please Visit www.csstimes.pk
(a) John Napier (b) John Wells

(c) John Larson (d) Andre Ampere

Who invented the Revolver?

(a) Melvin Calvin (b) Fritz Haber

(c) Samuel Colt (d) James Watt.

Television plays a very vital role in today's life. Can you tell the name of the scientist who invented
the television?

(a) J.LBaird (b) Karl Benz

(c) James Harrison (d) Graham

Which scientist is Known for the invention of the Helicopter?
(a) Henry Greathead (b) Brequet

(c) Louis Ducos due Hauron (d) Lee De Forest
Who invented the Vulcanite Ruber?

(a) Charles Goodyear (b) H.H. Nernst

(c) Konrad Lorenz (d) Gerhardt Domagk
By whom was the electric motor invented?

(a) JW. Mauchly (b) KariBenz

(c) Nikola Tesla (d) Ascanio

Which scientist ts known for the invention of the Video Tape?
(a) Charles Ginsberg (b) Sir William Cook
(c) William Stanley (d) Samuel FB Morse
The Pressure cooker brought a great relief to the housewives.
(a) Denis Pepin (b) G.W Leibniz

(c) Robert Gauss (d) Carl gauss

Knitting machines'are the life of hosiery Can you tell who was the inventor of the Knitting
Machines?

(a) Joseph W. Swan (b) John Wells
(c) William Lee (d) Thomas
During the years from to Jhangeer was greatly influenced by Mehr-ul-Nisa:
(a) 1610—1628 (b) 1611-1627
c) 1618-1628 d) None
L;kistan Affairs e For More FPSC Past Papers
Mehr-ul-Nesa Later known as Please Visit www.csstimes.pk
(a) Nurmahal (b) Nurlehan
(c) Both Aand B (d) None of these
In March 1958. the Provincial Cabinet of West Pakistan was formed by:
(a) Muzaffar Ali Qazilbash (b) Sardar Abdur Rab Nishtar
(c) Mumtaz Dauttana (d) Sikander Hayat Khan
He was elected President of Muslim League in 1958 after the death of Sardar Abdur Rab Nishtar
(a) Feroz Khan Noon (b) Mumtaz Daultana.
(c) Abdul Qayyum Khan (d) MA Qazilbash
In East Pakistan, the Cabinet of Ataur Rehman was dismissed on 31st March 1958 by:
(a) Mujib-ur-Rehman (b) Fazlul Haq
(c) HSSuhrawardy (d) Bhashani
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85)

86)

87)

89)

90)

91)

92)

93)

94)

95)

96)

97)

98)

99)

On 31st March 1958, Fazlul Hag was succeeded as governor of East Pakistan by:

(a) HameedAli (b) Gen. Azam Khan

(c) Gen. Sarfaraz (d) NuruiAmin

During the period of Feroz Khan Noon, Muscat handed over Gwadar to Pakistan on.

(a) 8th June 1958 (b) 8th July 1958

(c) 8th August 1958 (d) 8th September 1958

Dr. Khan Sahib was assassinated on

(a) 9th April 1958 (b) 9th May 1958

(c) 19th June 1958 (d) 29tj July 1958

General Ayub Khan took over as the Chief Martial Law Administrator of Pakistan on:

(a) 7th October 1958 (b) 14th October 1958

(c) 21st October 1958 (d) 27th October 1958

Maj-Gen. Iskander Mirza appointed Ger Ayub Khan as Prime Minister of Pakistan on:

(a) 26th August 1958 (b) 26th September 1958

(c) 26th October 1958 (d) 26th November 1958

Rulers of Pre-Islamic Iran were called

(a) Qaisar (b) kisra For More FPSC Past Papers
(c) Sultan (d) None  Please Visit www.csstimes.pk

Islamic Studies
Control over city state of Mecca was regained by the Quraish under

(a) Quaay (b) Abdul Muttalib
(c) AmJr Haniza (d) None.

Banu Adnan were the descendents of

(a) Adl bin Hatim (b) Khusraou

(c) Hazrat Ismail (d) None.

Hazrat Hamza accepted Islam in the year

(a) 3 Nabvi (b) 8 Nabvl

(c) 2 A.H. (d) None.

Battle of Uhud was fought in the year For More FPSC Past Papers
(a) 2A.H. b) 3AH. Please Visit www.csstimes.pk
(c) 4 A.H. (d) None.

The first mosque built for Muslims was:

(a) Bait-uf-Maqdas (b) Quba Mosque

(c) Nabvi Mosque (d) None

Musailma Kazzab was killed by:

(a) Khalid bin Walid (b) Wahshi

(c) Hazrat Abbas (d) None

Battle of BADR was fought in the year

(a) 2 A.H (b) 3 A.H

(c) 4 AH (d) None

Grand Mosque at Damascus was built by:

(a) Abdul Malik (b) Waleed

(c) Umar bin Abdul Aziz (d) None

At Qadsia commanded the Muslim army.

(a) Saad bin Abi Waqgas (b) Khalid bin Waleed
(c) lkrama (d) None

For More FPSC Past Papers
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